Whitman College

Econ 308

Exam 2

October 6, 2006

Write all answers in your bluebook.  Show all of your work.  The exam ends at 10:50.

1.    Consider the Cobb-Douglas production function where real aggregate output Y is given by   Y = A K(LxE)1-,  in which A=10 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and =0.4. Here, E indicates the effectiveness of each worker, so that LxE is the amount of effective workers employed.  The depreciation rate in this economy is 0.05, the savings rate is 0.35, the population grows at the rate 0.02, and the measure of labor effectiveness, E, grows at the rate 0.01.

(a)  (15) Find the steady-state level of consumption per effective worker (c*=C/(LxE)).  

(b)  (15pts)  How much higher would consumption per effective worker be in the golden rule steady-state compared to the actual steady-state?

2.  Consider the following information about a hypothetical economy.  The labor force is 100,000 and the capital stock is 20,000.  The labor force grows at the rate 0.02.  The effectiveness of labor grows at the rate 0.01. The depreciation rate is 0.05.  The equilibrium wage is 11, the equilibrium rental price of capital is 9, and the price level is 120.  Use the Solow Growth Model with labor-augmenting technology to answer the following questions.  Assume the economy has reached a steady-state.

(a)  (5pts)  At what rate does real aggregate output grow?

(b)  (5pts)  At what rate does per-capita real aggregate output grow?

(c)  (10pts)  Is this economy in the golden rule steady state?  If not, is at operating with more or less capital than the golden rule capital stock?  Explain how you can tell.

3.  (10pts)  Consider the Federal Reserve Bank of Cleveland’s Economic Commentary article “What Fiscal Surplus?” by Jagadeesh Gokhale.  Gokhale writes that “several studies have analyzed how saving is affected by intergenerational wealth transfers through the Social Security, Medicare and Medicaid programs and other fiscal policies.”  According to Gokhale, who is transferring wealth to whom, and what effect do these wealth transfers have on national savings?

4.  Consider the Cobb-Douglas production function  Y = A KL1-, where Y is real aggregate output, A>0 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and  is a fraction between 0 and 1.  Suppose Economies A, B and C each has a Cobb-Douglas production function.  Use the information about the economies given in the table below to answer parts (a) and (b).

	Economy
	
	Solow Residual
	Average annual percentage change in K
	Average annual percentage change in L

	A
	0.4
	1.3%
	2.0%
	5.0%

	B
	0.3
	0.1%
	1.5%
	3.0%

	C
	0.2
	0.2%
	1.0%
	1.0%


(a)  (10pts)  Calculate the average annual percentage change in real aggregate output for each economy.

(b)  (10pts)  Which economy has experienced the highest average annual increase in real aggregate output per worker?  Show and explain your work.

5.  Suppose that the labor force is fixed at 200 million people, of which 180 million are currently employed.  Suppose that the monthly rate of job separation s=0.02, and the monthly rate of job finding f=0.24.  

(a)  (10pts)  What will the unemployment rate be next month?

(b)  (10pts)  When this economy is operating at the natural rate of unemployment, how many people will find a job in a month?

